VI

@W%%k$

R

A\

-\
W

i\

A

A

03339_K R M EHE WA BE KH

7= miiEA

ME
Mo

g -

BHROES , B,

e , gL ER BEesLaE,

PR, InEEsE A,

B

HRENBERE  NERNANOREEE | AT ERBAOEMNR
Ko AR IMHEREBREER , 7 AT HIRN3E4

;| N = 50
R ESTRSTRS I
==

03339-3112 K PrAER S M12X1,5 8 M4 | 55 | 6,78 |16 | 38 6,12 20| 27,5 1,38 8
03339-3116 K RAEREHED M16x1,5 11 M5 8 10 25| 71 8,7 28 38 1,3 10
03339-3120 K PRAERER S M20X1,5 14 M6 | 10 12,2 |40 | 140 10,3 34 47 2,7 12
03339-3212 K IEEE 2P M12X1,5 8 M4 | 55 | 6,78 | 20| 60 6,12 20| 27,5 1,38 8
03339-3216 K JIEEY Pl M16x1,5 11 M5 8 10 35| 103 8,7 28 38 1,3 10
03339-3220 K pIEEEE Ll M20X1,5 14 | M6 | 10 122 60| 175 | 10,3 34 47 2,7 12

© norelem www.norelem.com




03339 K AR BERE S HEHE KB

© norelem www.norelem.com



